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Subject: Geography (Booklet Number)

Duration: 90 minutes Full Marks: 100

Instructions

1. All questions are of objective type having four answer options for each. Only one option is
correct. Correct answer will carry full marks 2. In case of incorrect answer or any
combination of more than one answer, % marks will be deducted.

2. Questions must be answered on OMR sheet by darkening the appropriate bubble marked
A, B, C, or D.

3. Use only Black/Blue ball point pen to mark the answer by complete filling up of the
respective bubbles.

4. Do not make any stray mark on the OMR.

5. Write question booklet number and your roll number carefully in the specified locations of
the OMR. Also fill appropriate bubbles.

6. Write your name (in block letter), name of the examination centre and put your full
signature in appropriate boxes in the OMR.

7. The OMRs will be processed by electronic means. Hence it is liable to become invalid if
there is any mistake in the question booklet number or roll number entered or if there is
any mistake in filling corresponding bubbles. Also it may become invalid if there is any
discrepancy in the name of the candidate, name of the examination centre or signature of
the candidate vis-a-vis what is given in the candidate’s admit card. The OMR may also
become invalid due to folding or putting stray marks on it or any damage to it. The
consequence of such invalidation due to incorrect marking or careless handling by the
candidate will be sole responsibility of candidate.

8. Candidates are not allowed to carry any written or printed material, calculator, pen, docu-
pen, log table, any communication device like mobile phones etc. inside the examination
hall. Any candidate found with such items will be reported against & his/her candidature
will be summarily cancelled.

9. Rough work must be done on the question paper itself. Additional blank pages are given in
the question paper for rough work.

10. Hand over the OMR to the invigilator before leaving the Examination Hall.

11. This paper contains questions in both English and Bengali. Necessary care and precaution
were taken while framing the Bengali version. However, if any discrepancy(ies) is /are
found between the two versions, the information provided in the English version will stand
and will be treated as final
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Geography

1. Which of the following ranges separates the Kashmir valley from the Indus Valley?
(A) Dhauladhar (B) Great Himalayan range
(C) Pir Panjal range (D) Siwalik range

e “Hemdelr S @b Fig TioR @ TR S 58T IER?
(A) E=TE (B) e wifor®
(C) T AN Foar (D) FIfe siForat

2. Which among the following rivers originate in Tibet?

a. Sutlej River  b. Indus River c¢. Ghaghara River

(A) aandb (B)band ¢ (C)aandc (D)a,band ¢
e @ TelE T fowro?
a. *1og (ToET®) Al b. P @ c. weR AR
(A) a@Rb (B)b 4@k c (C)a@¥_ec (D)a,b@@3c
3. Which of the following sea ports are located on the eastern side of the gulf of Kutch?
(A) Cambay (B) Dwarka (C) Kandla (D) Okhla

RS P TRETEn T2 TR 27 emigs?

(A) IO (B)RIS=! (C) rTel (D) 8¥=l
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4. Match List I with List IT and select the correct answer option

ListI List II
a. Typhoon 1. India
b. Willy Willy 2. China
c. Hurricane 3. Australia

d. Tropical Cyclone 4. USA

(A) a-1, b4, c-2,d-3 (B) a-1, b-2, ¢-3, d-4
(C) a-4,b-1,¢c-3,d-2 (D) a-2, b-3, c-4, d-1

S-G9 T SIfeFI-11 W8 ¢« A3F Tedlp AT 41

SifeTpl-1 SifeTpl-11
a. BIZLA 1. OIS
b. T3 T3 2.5
c. i 3.@?‘@@
d. TR gRT 4. RS

A) a-1,b-4,c-2,d-3 (B) a-1, b-2, c-3,d4
(C) a-4,b-1,c¢-3,d-2 (D) a-2, b-3, c-4, d-1
5. Which one of the following is the longest continuous mountain range in the world?
(A) The Himalayas (B) The Rocky Mountains
(C) The Alps (D) The Andes
Ao Mg @D [Rege Adon i sidoeat?
(A) foser (B) A& (Rocky) AESwaat
(C) === (D) e

QP-PUBDET-2018-Geography FINAL.docx Page: 4/16




6. Starting from the best quality of iron ore which one of the following is the correct sequence of the
iron ore based on the contents of pure iron?

(A) Magnetite — Hematite- Limonite- Siderite
(B) Magnetite — Hematite- - Siderite- Limonite
(C) Hematite- Magnetite - Limonite- Siderite
(D) Hematite -Magnetite — Siderite - Limonite

TP TR T2 SRS [ UF IE, NG9 FF Teditre sekeed e e
R AT T P A SNC=?

(A) SUEGIRD - (RAGIRD - BIWIRs - Pedizs
(B) SUMI-DIZ5 - (=ABIZG - PieARs - Fwmizs
(C) TZGIZG - SUMIGIRG - feIzs - Pireaizs
(D) T=IABIZG - GG - Pwaias - Fe=izs

7. Which is the correct arrangement of the following Indian rivers when one goes North to South?
(A) Godavari, Pennar, Couveri, Periyar
(B) Pennar, Godavari, Periyar ,Couveri
(C) Godavari, Couveri, Pennar, Periyar

(D) Couveri, Godavari, Periyar, Pennar

Teq A M O Ao @ Rmb eror el e [

(A) CIMRS - AR - FES - iR
(B) PIIF - (MRS - ifFE - FES
(C) IV - FES - R - ifER
(D) FIES - LIRS - IRER - vER
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8. In India , people migrate from rural to urban areas mainly due to

1. Poverty

2. High population

3. Lack of basic infrastructure like health care and education
Select the correct answer from below

(A)land2 (B)2 and 3 (C) only 3 (D) 1,2and 3

SIS AT YO T P AN AP *I0ST O IR O 26T

1. |
2. HEF S
3. fAml, Bfeet o Gifee AR o[

Ao Tedls v <=
(A)14E3R2 B)2¥R 3 (C)FI 3 (D) 1,2 @3R3
9. The luxuriant growth of natural vegetation in tropical rainforests is due to

a.The fertile soil

b. Hot and wet climate throughout the year.

c. The intense sunlight for photosynthesis

d. Seasonal change to facilitate nutrient absorption

Select the correct answer from the codes given below:

(A)aandd (B)bandc (C)a,bandc (D)a,b,candd

g e wErelie Seme Jfam 2R [ ¥

T

AR TF 8 WK WS

AP SRR &) O ST

WY AR et Teered ARARST et

a o T o

(A) a ¥3ed (B) b @e.c (C)a, b @ec (D) a, b, ¢ ¥93d
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10.

If the Earth’s axis were perpendicular to its orbit, which one among the following would not have
happened?

(A) North pole always lies in dark.
(B) Days and nights are throughout the year.
(C) No change of seasons.

(D) The sun is perpendicular to the equator.

R ST M O FHART T T TS O A @PIHD WO A

(A) T€F TF TKig S0
(B) Rl q=d W= @ Aif@
(C) (PN 4P AR 2

(D) ¥ R¥T @97 Tarw

11.

All of the following rivers flow into or join the Ganga on its left side, except

(A) Gomti (B) Son (C) Gandak (D) Kosi

FFD M T IS K Tl s aace oF & e [fere =39
(A) IS (B) I (C) NTF (D) T

12.

Which one of the following weather conditions is indicated by a sudden fall in Barometer reading?
(A) Stormy (B) Calm weather
(C) Cold and dry weather (D) Hot and sunny weather

JARGIE 15 2R I OIE F T50 N[RSAT SA@PT “feat e
(A) J© (B) *II® S(RZNs
(C) w1 6 BT IR (D) &% '8 (Hiwgs wReT!

13.

Which country is the first to propose a carbon tax for its people to address global warming?

(A) Australia  (B) Germany (C) Japan (D) New Zealand

™ TEEE WRIREAR Sy 29 &FH T O Sl 8O IR 9 S I
2B F(R?
(A) @R B)TER (C) TP (D) SfEreTs

14,

Which is the term used to denote the temperature at which the air becomes saturated with vapour
and below which the condensation begins?

(A) Condensation point (B) Evaporation point
(C) Dew point (D) Critical point

@ OPNER A TS TR I AR TG T 6 TS BF T O F @
(A) e 7 (B) Ao 7w
(©) fefm (D) *&5 7
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15. | The highest surface water temperature is recorded in the
(A) Red sea (B) South Andaman sea
(C) Persian gulf (D) Java sea
TR S e Tl SeTl [T
(A) TS @ (B) Wf#e SV TR
(C) AT ToAAIE (D) &Sl T4
16. The topography of the Atlantic Ocean floor is dominated by a central ‘S’ shaped ridge extending
from north of Iceland to
(A) Bouvet island (B)Tristan da Cunha
(C) St. Paul rock (D) South sandwich island
AT TP T2Ffon @Il (AFE B Ted WS & 8 ige
‘S’ AFET GF Col
(A) TITSG @7 (B) fa@=-7-w=l
(C) BT e el (D) A3l TS TIFF A
17. ‘Egypt is the gift of the river’ was stated first by
(A) Aristotle (B) Seneca (C) Herodotus (D) Strabo
“fmm JE SR - G 2N T AEARE?
(A) UREGA  (B) TR (C) GRS (D) gt
18. In the open ocean the difference in height between high and low tides is
(A) 1.0 m (B) 1.5m (©)0.5m (D) 0.25m
SRR SR TRPEEeRd TheR gM-3% 90
(A) 1.0 m (B) 1.5m (©)0.5m (D) 0.25m
19. Which of the following is not an expected effect of climate change?

(A) Sea level rising (B) Expanding glaciers

(C) Flooding in coastal cities (D) Extreme weather.

(A) TEHEA Twol I (B) fesRIC=a 2Piew
(C) TR ==Aefers Tl (D) 53N SRS
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20. Which of the following measures are effective for soil conservation in India?
I. Avoiding crop rotation
II. Afforestation
1. Encouraging the use of chemical fertilizers
IV. Limiting shifting cultivation
Select the correct answer:
(A)Tand II (B) T and IV
(C) Il and IV (D) I, Il and III

ToH T TR SRS YR RIHFER T I O e

I. "[RO GCI!

1L IR &=
111, IF T @ TAR 2

IV. 3% 51 TS T
e Tel a9

(A)Tand II (B) I and IV
(C) Il and IV (D) I, I and IIT

21. | When itis noon 12’0 clock at Allahabad in India , the time at Greenwich, London, will be
(A) midnight 12’0 clock (B) 5:30 p.m.
(C) 6:30 am. (D) noon 12°0 clock

OIS GERRIT T PIH 5Bl O ST A0 o 67

A) @ s’ (B) 5:30 p.m.
(C) 6:30 a.m. (D) P78 5 B
27, The main rock layer of kurst land form is
(A) Clay stone (B) Sand stone (C) Lime stone (D) Marble
e TG PRreR 2um R 2'a
(A) I AF (B) (= Al (C) B~ (D) &=
23. | The relative ratio of mineral particles in soil is called

(A) Texture (B) Structure  (C) Porosity (D) Density

Wibee TAES AfFe FHm SEfHs S
(A) 229 (B) 5107 (C) @l (D) I

QP-PUBDET-2018-Geography FINAL.docx Page: 9/16




24. | The theory of crop combination was introduced by

(A) Weaver (B) Zimmerman (C) Marshal (D) Jekov
(A)TZoE  (B) feruig (C) Wi (D) (5
25. Modern giant industry is
(A) Steel industry (B) Engineering industry
(C) Petrochemical industry (D) Oil refinery industry

Y FEemeg =a
(A) TS e (B) Zfgfaifae w1
(C) TGP st (D) (5% Il f&ieot

Basic Science

26. | Which from the following is true for “Sound”?

(A) Sound cannot travel through vacuum
(B) Sound cannot travel through gases
(C) Sound cannot travel through liquids
(D) Sound cannot travel through solids

AT THGE AP T OfE TIF?

(A) *F %ol S o1 e Al

(B) * ST N o= FE Al
(C) *R[1 OF& TG M
(D) *13 F{I T o I Al

27. 1 nanometer = ?
(A) 10 “ meter (B) 10 *meter (C) 10 * meter

| IGR = 2
(A) 10 3 fBR (B) 10 * 6= (C) 10 6™

(D) 10 "2 meter

(D) 10 -2 NG

28. | The fluid part of blood is known as

WS TR [HE 67 2T
(A) sl (B) AP&FF  (C) T& I (D) TR

(A) plasma (B) platelets  (C) blood cells (D) hormones
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29. | The speed of light in vacuum is
(A) 280,000 km/s (B) 300,000 km/s (C) 320,000 km/s (D) 30,000 km/s
Hely SO =R &9 e
(A) 280,000 km/s (B) 300,000 km/s (C) 320,000 km/s (D) 30,000 km/s
30. The nearest planet to the Earth is
(A) Venus (B) Mercury (C) Mars (D) Moon
T foow a2 '
(A) ©& By (C) Jte1 (D)™
31. | GPS stands for
(A) Global Poles System (B) Global Poly-Silicon Store
(C) Global Positioning System (D) Global Position Structure
GPS *Iors &g
(A) IR T o (B) QIR #Afei-Fifere TB=
(C) @RIE wAfefe Fied (D) @RS e F=e5IR
32. | Atnight, Plants intake and release .
(A) Oxygen, Carbon dioxide (B) Carbon dioxide, Oxygen
(C) Oxygen, Carbon monoxide (D) Carbon monoxide, Oxygen
Afaen Sfen 4= IR @ I IR
(A) SIS, ST ISR (B) P TR, A3E
(C) SIS, FHA A 2T (D) R IATSH LS, S
33. | Blood is cleaned by
(A) Lungs (B) Liver (C) Heart (D) Kidneys
& AfFES 2 W T O DA
(A) A (B) IF® (C) 3T D) =
34. The principal constituent of the atmosphere of the Earth is?

(A) Oxygen  (B) Carbon (C) Hydrogen (D) Nitrogen
R IPREE T WS R

(A) SR (B) IR (C) QTS (D) @IS
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35. The radius of a wheel is 20 cm. Approximately how many times will it turn to travel 1 km?
(A) 3928 (B) 1590 (C) 795 (D) 7857
20 cm PN RFE @I 0 1 km S AR FOIR G2
(A) 3928 (B) 1590 (C) 795 (D) 7857
36. Diamond is an allotropic form of
(A) Silicon (B) Carbon (C) Iron (D) Uranium
T WG b @36 IZFAL
(A) Pl (B) FI (C) = (D) SR
37. | LPG used as domestic cooking gas is composed mainly of
(A) propane and butane (B) Methane
(C) Natural gas (D) Acetylene
AN VR (LPG) -4 & TAM &
(A) 27 8 RGG (B) faltgm
(C) AFfoF ™7 (D) SUIHHE
38. What is the lowest imaginable temperature?
(A) 0°C (B) 0°F (C)-273°C (D) 100°F
TR N OEEal T2
(A) 0°C (B) 0°F (C)-273°C (D) 100°F
39. | Which one has no electric charge?
(A) Electron (B) Proton (C) Positron (D) Neutron
B (1 SR i 22
AITEFT B EBT ()G (D) FEE
40. Which of the following is the main component of baking powder?

(A)NaHCO;  (B)NaCO;  (C)NaCl (D) HCI
Nwa G 4R CICR o SHmime
(A)NaHCO;  (B)NaCO;  (C)NaCl (D) HCI
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41.

Which of the following is in appropriate sequence of states of matter?
(A) Solid — Gas — Liquid — Plasma (B) Solid — Liquid — Gas — Plasma
(C) Plasma — Liquid — Solid — Gas (D) Gas — Liquid — Plasma — Solid

A SRR T R s T ==e
(A) T3 — SIS — ST — 2fferil (B) T+ — e — SIS — it
(C) 2T — BT — FfIe — A (D) I — O — AT — I

42.

Which one helps to define force?
(A) Newton’s 3" law of motion (B) The theory of relativity

(C) Newton’s 1% law of motion (D) Archimedes' principle

@I @b @kl [ R W 9 e
(A) ROEER ©*F o (B) TSl ©g
(C) RThE= v o (D) WRFRferm A

43.

A small stone tied to a string is being rotated vertically. If the string snaps exactly when the stone is
at its top most point, it will fly

(A) upward (B) downward (C) leftward (D) rightward

O A G5 (R AR GRS Terd O WINPT O FHAL
M Raee B ©3=R M el & Im o AED @ e e

(A) T e (B) 53 O % iz (D) oW =

44,

When a running bus stops suddenly, passengers tend to lean towards the front of the bus. It is
related to

(A) friction (B) gravity (C) tension (D) momentum

G 5518 IPT QoI (A TG Al O ANER T o #0817 TR
(A) el B)=fest (€)W (D) B4

45.

A boy throws a ball straight up at a velocity 10 m/s and catches it when it returns. What will be the
velocity of the ball just before the boy catches it?

(A)20m/s  (B) 0 mJs (©)10m/s  (D)5ms

G TR 10 m/s (@0 G0 1 T e R0 W @92 Teiis Rl e e (7l o[
eI o S o ol T2

(A)20m/s  (B)0m/s (C)10m/s (D)5 m/s
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46. Approximate velocity of sound in air at room temperature is
(A)340m/s  (B)34m/s (C)3400 m/s (D) 3.4 m/s
FOIRT SIPNI@R IRCS = @ AR 92
(A)340m/s  (B)34m/s (C)3400 m/s (D) 3.4 m/s
47. | White light splits in to seven colours when it passes through a prism due to
(A) diffraction (B) refraction (C) polarization (D) reflection
oo S e S e A S el we [elfers »ewin FiEd v
(A) TS (B) Afo7= (C) TS (D) AfSTFeT
48. | Domestic microwave cooking uses
(A) light wave (B) ultrasonic wave
(C) heat wave (D) electromagnetic wave
TER NLEFSFTe IR JITo
(A) AR O (B) *ICATS O
(C) O o= (D) SfCLREIR O
49. 1 GB memory is approximately times larger than 1 MB memory.
(A) 10 (B) 1000 (C) 100 (D)2
1 MB Gl (2CF 1 GB GIwal 2 @ JY|
(A) 10 (B) 1000 (C) 100 (D)2
50. Which one is a fundamental unit?

(A) Watt (B) Dyne (C) Litre (D) Metre

AT GFF FH0?
(A) ST (B) Tigs (C) bR (D) fBR
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M vo NG g 9% oo

[E4Rlsal

S @3 ARHEE R PR3 ST oY W2 A A v S Ten el
Wi I GFH T@ FoT T Tew e 2 9 A g Tew e weAl
«FifeF Tea e 1, w91 F6! A&

OMR *@ A,B,C,D Bfzw 7% 1 @it 3= Tea fire =@
OMR (@ Tex e WY@ Fic A Tel &1 26 ¢iH IRYT Fa|
OMR 7@ W8 B Qo W= @A T W T |

OMR *i[@ {8 B 27I@d 7997 @R o @ 959 S AR_YTOR A
foT4® =@ g AEEE @l SEd Fo A

V. OMR °itg g e fees A @ A1 eas 7 e =9 g7 s e
A frs =@

AL OMR TEAfl FEREWT AT A A8l TAI HOAR 2P 99 A &I
TH9 gl oI SR e W ORI A TSt S el Aot 7o
A GOl AR AN, #F @SR AN A I @ e NS TR ofw
fSeT 2@ @S 7@ OMR T&ab e 2+ Al OIS SFRIF A5 T8
AT 2@ S A AFFRA 97 4 g A ST Ty Teg e
A @@ AEE ee O T i ARE|

b (NRIER, FEEEDT, ARTH, d=5e, @2iba, e 3 @R @R Sl
AAIF FCF S @ A SN FIo AMEANS TR G ANFRT 83 A
Jifos1 41 A

5. AN T AT IS I G FIF SN ST MR T FI S @3
FIer IR FAE AN

yo. HAFl FF QO W OMR 719 S 3 v M@ amE

5. @3 2T FeAG! 8 JARE TOW SRS AN ST BRI AR W A% (oI
T ARG AT 8 FOFS| W@ I LRI O MGE TN (T TP
w9 AR, CICRE 2RAG) Mgew medl 7 0% ¢ pus e [Rebo =@

R o 6 W
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